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PROFESSIONAL EXAMINATION

| Professional BOARD
Bbexommtion High School Teacher Eligibility Test-
board 2018
10th Feb 2019 02:30pm

Topic:- GENERAL HINDI

1) ‘Good mind, good find’ 39 3i3sf FeTad 1 we =t o FamsU
1. 51 1 B A BRI, 7 0T ATt

2. 3T Hel oY ST Hell

3. 37T TG AT, 3=l @il

4. 3THT A, IgadR WIS

Correct Answer :-

. 31T Yol ol ST Yl

2) A BT S’ YgTax BT A 7 -
1. §ETE BT

2. AU &

3. 3{d o

4. Y §Td HRAT

Correct Answer :-

3) FTeg 3R 31 A THPR IUT HR BT P WMHT 9811 a1 ded B PEd g
1. U=

2. BT

3. 3[APR

4, T
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Correct Answer :-

4) = ool o ¥ &R @1 faaiw sasel
1. 3R
2. Goll
3. QoI

4. TR

Correct Answer :-

5) Sgd UTTSN BT AT B TP e A FIT Hgd 82
1. SgHTST

2. §g HIWTTdG

3. §g YIVTfa

4. 9§70

Correct Answer :-

Correct Answer :-

. DY

7) fopar & fora ¥ 9 g5 var 9d o v &1 g=1 fawg
1, IR H HH g1 119 HT YY1 IdT arelt fobar gl

2. 9T | Sl g1 HH IT HTd Pt YY1 IdT arelt fosar gl

Page- 2


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

N P> Google Play

3. 91T H &l Bl YUl gd= drelt fbar gl
4. Ddi g, HH g T HId I IH HEd o

Correct Answer :-

. Bdl 8, HH & JT HId 3T IT<F Hed 8|
8) TUTY Meg W UYHRI UTT @ -

1. dl

2.q

3.4

4,91

Correct Answer :-

9) ‘aTel TH g& FPrf& wrter, gf-gfy =15 geranfa
3RT R @ <1y, Uy 3t g famafar

EERCSpIR Rk R kg R R g
1. QM 3

2. Vfdd 9

3. Ay XY

4. QY H

Correct Answer :-

o dlcHYY

10) CANCELLED
“dRT T qgIgar=t gl
1. dR&

2. 3GVl
3. UHI

4. dfsd

Correct Answer :-
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Topic:- GENERAL ENGLISH

1) Choose the option that best expresses the meaning of the highlighted idiom/phrase:
‘Brevity is the soul of wit’ implies.

1. Witty people are generally diminutive

2. The essence of intelligence is to be brief in expression

3. One can go on and on and still make sense

4, Great intelligence is always associated with long speeches

Correct Answer :-

« The essence of intelligence is to be brief in expression

2) A sentence with an underlined word is given below. Choose the correct option which is closest in meaning to
the underlined word.

I had been rudely awakened.

1. made weak
2. slept

3. roused

4. manhandled

Correct Answer :-

» roused

3) Out of the following options, choose the correct form of verb that is in agreement with the subject for the
given sentence:

In olden days, living was cheap and an earning of ten thousand rupees __ a huge amount.
1. was

2. are

3. were

4, have been

Correct Answer :-
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4) Out of the following options, choose the most appropriate tense that best fills in to complete the given
sentence:

I to my friends place tomorrow to study.
1. will be going

2. would be gone

3. had gone

4. going

Correct Answer :-

« will be going

5) Choose the appropriate adverb clause from the options to complete the given sentence:
You can put it

1. somewhere for you

2. somewhere

3. wherever you like

4. wherever

Correct Answer :-

« wherever you like
6) Out of the following four options, choose the incorrect sentence:
1. We have worked with organizations that cater to the lifting up of neglected slum and homeless children

2. Our training does not appear to be delivering adequate value and a number of people are highly critical on how
we train them.

3. A enchanting white marble lobby, adorned with traditional Indian motifs occupies the pride of place at the Taj
Mabhal Hotel.

4. Campus recruitment was very spasmodic and we need to ramp up and professionalize recruitment processes.

Correct Answer :-

« A enchanting white marble lobby, adorned with traditional Indian motifs occupies the pride of place at the Taj
Mahal Hotel.
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Out of the following options, choose the most appropriate usage to fill in the blank:
The remark wasn't intentional; it happened

1. by slip
2. in accident
3. by accident

4. through accident

Correct Answer :-

by accident

8) Arrange the sentences P, Q, R and S to form a logical sequence between sentences 1 and 6.
1. It happened exactly three days ago.

P. Some concessions from the six other countries were expected in return.

Q. Britain made concessions on commonwealth preference.

R. Instead they interpreted Britain's concessions as weakness.

S. It would have the effect of reducing commonwealth imports to Britain after 1970.

6. Their latest demand is more damaging than their last proposals.

1. SQPR
2. QSPR
3. PQRS

4. SRQP

Correct Answer :-

Topic:- GENERAL KNOWLEDGE

1) According to Census 2011 in Madhya Pradesh, the percentage of total male child population (0-6 years age
group) to total male population is ./

SFITOMT 2011 & 3R, A YR § $d T3V ATEIE! § A o ToY 914 ATa1e! (0-6 a9 3(1g avt) &1 ufasra
I

1.20
2. 15
3. 18

4.22

Correct Answer :-
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2) Who is the first Indian female gymnast to win a medal at Glasgow Commonwealth Games 2014? /

2014 T APHST Wall § UGS Siad arelt TUH YR formere afgar &4 82
1. Dipa Karmakar / a1 HAfHY

2. Anjali Kashyap / 3{STdll =04

3. K.M. Beenamol / &. TH. SiHTHId

4. Mithali Raj / THrUTel I

Correct Answer :-

« Dipa Karmakar / &1 HAf®H

3) Who among the following cricketers born in Madhya Pradesh became the first Indian to score a test century
overseas for India? /

ﬁ;r%r@;ﬁﬁﬁﬁﬁ@ragaﬁq%’,ﬁnwmﬁﬁagq%)ﬁm%mﬁhﬁﬁ%ﬁwmﬁaﬁm
YR 8?2

1. Syed Mushtaq Ali / S9¢ YT 3feit
2. C.K. Naydu /¥l &. T09g
3. Mansoor Ali Khan / A¥X 3relt @

4. Chandu Sarwate /agﬂﬁz

Correct Answer :-

« Syed Mushtaq Ali / §T¢ H2dTe 3fcil

4) To rewrite and harmonise financial sector legislations, rules and regulations, the Central
Government constituted the Financial Sector Legislative Reforms Commission (FSLRC) under who's
chairmanship? /

farita &= & Sl fAamt ok A & five | fRreA Sk Oy 9911 & e, g WReR A fHast sreaern
H fo<iia & faurdt gur smanT (TwewsmRt) &1 1o+ fHar

1. Justice B.N. Srikrishna / Sifeg &t T, %ﬂ?mﬂ
2. Dr. Meghnad Desai / BY. HOHTG ol é

3. Dr. C. Rangarajan / SI. 91, 3RSH
4. Dr. Subir Gokaran / S1. &R Ta0f

Correct Answer :-

« Justice B.N. Srikrishna / S off.TH. fiHwn
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5) Who was the first vocalist to have been conferred the Bharat Ratna? /
YR ¥ | I f6T T ugd as o1 A/t

1. Lata Mangeshkar / &dl TTRIHR

2. Bismillah Khan / faf@rean @t

3. M.S. Subbulakshmi / TH.TH. gegeiedt
4, Pt. Bhimsen Joshi / fga P ah

Correct Answer :-

« M.S. Subbulakshmi / TH.TH. Jegaedt

6) Name the Indian singer who was born in Indore and jointly awarded the Bharat Ratna along with Ustad
Bismillah Khan in 2001. /

I HRHG TS BT 4 Ta1¢, 7T 70 $3I) A g2 3R R Igad +u A Iw1g fif@ieee @ & 914 2001
YR I A G foar |

1. Ustad Amir Khan / 3¥dlq 3R @H
2. Kavi Pradeep / Pid udly
3. Piyush Mishra / tﬁ'{&[ forsm

4. Lata Mangeshkar / <Idl TR

Correct Answer :-

» Lata Mangeshkar / <Idl HOH

7) “The Race of my Life’ is the autobiography of which Indian sports personality? /
< I 3P A1E AP fhg YRdH A 31 srrspur 82

1. P.T. Usha / Ot €1, 301

2. Milkha Singh / forerar Rig

3. Anju Bobby George / 35 dTall Sifol

4. Yuvraj Singh / gaRTol Rig

Correct Answer :-

« Milkha Singh / foerar Rig

8) In the MP Budget Estimate 2018-19, was the least contributor under the Tax Revenue of the state. /

Y USRI goic AT 2018-19 H, I P B IR P 3ATTd eUdH TRTSTHDT AT
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1. Electricity Duties / aaﬁga R

2. Tax on Vehicles / A8 UR B3

3. State Excise Duty / X 3l Y[

4. Land Revenue / 1{&{ RSES

Correct Answer :-

» Land Revenue / 1{&[ RSEE

9) Where in Madhya Pradesh is the Kalidasa Sanskrit Academy located? /

AU § SIS HIPd SBIGH! Pal fud 82

1. Gwalior / TaTfeRR

2. Vidisha / fafe=m

3. Bhopal / T

4. Ujjain / I=H

Correct Answer :-

e Ujjain /IS

10) CANCELLED

When and where was the National Library of India inaugurated and opened to public? /
HRA & AP RABTAY $T 3GUICA 9 3R HE1 T AT T ST & ¢ o @ierm 1 412
1. Mumbai, 1950 / 4, 1950

2. New Dehli, 1951 / 75 fawefl, 1951

3. Kolkata, 1948 / I, 1948

4. Kolkata, 1953 / BIHIdT, 1953

Correct Answer :-
« Kolkata,1953 / ®Id®Idl, 1953

Topic:- GENERAL REASONING

1) Find the missing number: / q&l ISIT [T G
110, 132, 156, ; 210

1. 192
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2.172
3.182
4.162

Correct Answer :-

- 182

2) Find the average. / 3 Td Td Gl
52, 88, 73, 64, 88 & 85

1. 81

2.75

3.79

4. 83

Correct Answer :-

3) Which one of the following four addresses is NOT EXACTLY same as the one given
below? /

Frafefed fog 7o ar ual 7 9 = iy 1T ud & S w9 311 |91 o 81 82

Paradise Drive Wirrina Cave,
South Australia, Yankalilla,
SA 5203, Yankalilla SA 5203,
Australia

+61 8 8598 2400

(i) Paradise Drive Wirrina Cave,
South Australia, Yankalilla,

SA 5203, Yankalilla SA 5203,
Australia

+61 8 8598 2400
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(ii) Paradise Drive Wirrina Cave,
South Australia, Yankalilla,

SA 5203, Yankalilla SA 5023,
Australia

+61 8 8598 2400

(iii) Paradise Drive Wirrina Cave,
South Australia, Yankalilla,

SA 5203, Yankalilla SA 5203,
Australia

+61 8 8598 2400

(iv) Paradise Drive Wirrina Cave,
South Australia, Yankalilla,

SA 5203, Yankalilla SA 5203,
Australia

+61 8 8598 2400

4, 111
Correct Answer :-
o 11

4) The below series uses a sequence of alphabets and numbers. Identify the incorrect combination: /
TR < € e 31eRY T FoASH BT SIehH WENT B € | TAd ST g |

(i) KI9SLMS6EW

(i) KI9SLMS8GEW

(iiii) KI93LMS6EW

(iv) KI9SLMS86EW
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4. 1il
Correct Answer :-
e 1il

5) A can do a certain job in 14 days. B is 40% more efficient than A. How many days does B alone take to do
the same job? /

A & Ff3a o1 ) 14 391 § 2 IHa1 21 B, A T 40% 3T FA 81 B HI 3bd 39 T B B34 A fHa-n
TG T?

1. 10 days / 10 fa1
2.12days /12 faa
3.8days/8 fad

4. 14 days / 14 fe

Correct Answer :-

. 10days/10faT

6) IfA and B are two sets such that n(A) = 33, n(B) = 41 and n(AUB) = 46, then find n(ANB). /
afe AR Bel &¢ 59 UsR & & n(A)=33. n(B) =41 3iX n(AUB) =46, aT n(ANB)
EIGECT]

1.26

2. 24

3.25

4.28

Correct Answer :-

7) If D = 4, COVER = 63, then BASIS = ? / Tf¢ D = 4, COVER = 63, dt BASIS = ?
1.50

2.54
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3.55
4.49

Correct Answer :-

« 50

Topic:- PEDAGOGY

1) Roger’s client centered therapy is based on the assumption that: /

TS T AT hisd ALAT TH GTIUT I ST & T

1. Man works in the direction of satisfying his needs and achieving his goals. / A7t TIHT STELAT T qa

Tl AT AT AT I ITH FLA i (T § FHIH Har gl

2. Man, creates his own self but cannot move forward. / T, SMTAT TG FT HTH & FHIAT § ATohe AT Al
IE qFHAT g

3. Man, is a social animal and the society dictates his behavior. / AT, TF STATISTE YU g 3T THATST IHH
AT F [T Far 8l

4. Man, is a creative, rational, and constructive social being, but he needs support to solve problems. /

ATEHT, Teh TAATCHE, THEIT ST TAATCHE FTHTOME ITU(T &, SATohed THEATA T e A o (o0 IH GHAT il
AFTITFAT &

Correct Answer :-

. Man works in the direction of satisfying his needs and achieving his goals. / AT JIHT TELAT Hl T

LA T AT AT I ITH FLA Al (T § FHH Har g

2) In cybernetics, the machine is controlled by: /

ArgaRAfead #, 7eiA &1 A= g1 fArifaa far siman @:
1. Using Compulsion / IEEEGIED W
2. Using force / d TN

3. Human beings / ArHal
4, Regulations and feedback systems / fafram ok ufafssar vomeht

Correct Answer :-

. Regulations and feedback systems / faf¥am 3R ufafesar yomeit

3) Sensory feedback mechanism means that: /

;iﬁ'qﬁtrﬁrm?iamanfﬁﬂ%:»
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1. only visual feedback is provided. / Pad < Ufdfhdl UG &1 ol B |

2. all human activities are taken into consideration. / GH} ATa TAffRA DT e & @1 SIran % I
3. reinforcement is a self-acting device. / Udcl Udh I-gichd SUBHII %l

4, reinforcement is a self-controlling device. / Ud ¢l Udh W-UEd Ius %I

Correct Answer :-

. reinforcement is a self-controlling device. / US@ U TW-fUfEd IusHru 3|

4) In which of the following fields was the first laboratory was set up in Leipzig, Germany? /

Frafafea & 4 fow &= & argfer, st # ugel warm=mer wuifta #1 15 0
1. Industrial Psychology / 3N gfage

2. Clinical Psychology / EMIECY EElICEIE|

3. Educational Psychology /ﬁf\&lﬁ THIfa=

4. Experimental Psychology / PICIRCR BRI

Correct Answer :-

« Experimental Psychology / PICIRCR BRI

5) Who postulated the theory of multiple intelligence? /

=1 o @ fram vaTite-gfaa & Risia &1 ufaure faar a1
1. John Watson / SI[-1 dlcg-

2. A. R. Jensen / T.3IR. ST

3. E. L. Thorndike / 3.Ud. Y-S5
4, Howard Gardner / BEI’?KCE ‘IISC:R

Correct Answer :-

» Howard Gardner / Evﬁé ‘Ilé:R

6) Using of audio-visual aids and physical activities in teaching will: /
Rrgror ¥ siffeat-fassra Geraar ik v wfafaftry o1 3uah:

1. provide a diversion to learners. / Rrenfial &1 te H\I\’i & Bl

2. provide rest and relief to teacher. / fRrefeh BT SR 3R 18d U&= BT

3. facilitate effective assessment. / THTGRITA! g D HgS DT
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4, utilize maximum number of senses to enhance learning. / ST 1 §gM o ol Sifhan T § fddeh o1
UGN |

Correct Answer :-

~\

« utilize maximum number of senses to enhance learning. / ST B a‘a?l%r & foru sifepad Je | faded &1
ST B

7) If the students do not understand what is taught in the classroom, the teacher should feel: /

gfe faenfdat & wwsr & T8 smar fF e o @ar R simar 8, 9 Riere ) A1 vegw s wifew:
1. Terribly angry / T iy

2. That he is wasting time / dg JHY gafe I W8

3. Pity for the students / BIEIGD fou g

4, To explain it in a different way / 3@ 3T b I JHU

Correct Answer :-

« To explain it in a different way / _&'ﬁ I RIb I FITIETI'Q

8) Whose theory states that, “Children actively construct their understanding of the world”? /
frad Rigia & $e1mar & P, o= afthy w0 A gfvrar & aR & 3o wwHer &1 fmfor sea &2
1. Skinner / fRHR

2. Rogers / o

3. Bandura / SgXI

4. Piaget / foars

Correct Answer :-

« Piaget/ BRI

9) ‘Mirambika’, the school based on concept of free progress education was advocated by:/

Forfraer .30 wrfa Rien @t sraemon wR snenfya ¥@a &1 9ad= 39 grT f5ar T T
1. Gijubhai Badheka / FITG[HTS SYHT

2. Aurobindo / G‘Rﬁ?ﬁ

3. Rabindranath Tagore / JS&TY SR

4. Vivekananda / f[da®Hig

Correct Answer :-
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o Aurobindo / m

10) What is the natural language acquaintance? /

WIHTa® HTHT &1 U T 8?2

1. Hearing, speaking, writing, reading / {11, d\IQHI, |'E1{qvu, Yol

2. Hearing, speaking, reading, writing / {1, d\IQ'HI, U, NECE

3. Writing, reading, hearing, speaking / ﬁ‘l"@:ﬂ, YeI, -1, CNE]

4. Speaking, hearing, reading, writing / ®I\IQ'1'-II, -1, e, forRgT

Correct Answer :-

» Hearing, speaking, reading, writing / {11, GI\IQ'HI, U, NECE]

11) In the teaching-learning model, the correct sequence of five E’is: /
Rrgror-eiftrmy aise ¥, v £ & 98 ergpd AT €
1. Elaborate, Engage, Explain, Explore, Evaluate / ﬁﬂﬂ, A, IR, 3=y , H@W

2. Explore, Engage, Explain, Elaborate, Evaluate / &@WUT, {-iﬂ"'l, oYRAT, fat(jd, J-clgqicb'-l

3. Explain, Elaborate, Engage, Explore, Evaluate / oIReHT, i&%qq, o, W, H@W
4. Engage, Explore, Explain, Elaborate, Evaluate / W, W, o, ﬁﬂﬂ, E@Ta')_*[

Correct Answer :-

« Engage, Explore, Explain, Elaborate, Evaluate / I, H%EI'UT, oA, ﬁﬁﬂ, E@Ta')_*[

12) One of the following factors is NOT a cause for learning disability: /

fr=afafad & A &9 91 SRS FRRTH 3feAdT ST FRUT L] 8:
1. Behavioral disturbance / WW faeT
2. Emotional disturbance / HTd-TT&b faeT

3. Cerebral dysfunction / (EIII'%TEF ﬁ‘T) sl featharH
4. Cultural influence / W@ﬁﬁﬁ UHId

Correct Answer :-

« Cultural influence / W@ﬁﬁﬁ UHId

13) Child-centered pedagogy means: /
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qrd-sifiasfea Rign-fagm= &1 A erd 3:

1. Letting the children be totally free. / S B U;Uf ¥ Y WA I8 Tl

2. Putting the children in the center and observing them. / Sdl B bg U TGAT 3R IHT A BT

3. Giving primacy to children’s voices and their active participation. / S D1 ATaTel 3R I Ty
FEHIRTAT &) TiRadl T

4. Asking the children to follow and imitate the teacher. / gl Dl FR1gd &1 ST B TYUT Thd H o forw
Dol

Correct Answer :-

« Giving primacy to children’s voices and their active participation. / Il D1 3MTaTSl 3R 3! fgha
T HIRTAT &) Tiadl T

14) Children become active members of their peer group in which of the following periods? /

= fArfafaa o @ few srafr o ore et wie & wafha aew s91d 82

1. Late childhood / STCATARIT & ST

2. Early childhood / Jd STeaTa=T
3. Childhood / STedTdRT
4. Adolescence / T RIRTaRIT

Correct Answer :-

« Childhood / STeHTARYT

15) Thorndike’s instrumental conditioning is famously known as: /
TSP B SZHCA HS IR, GId: 59 99 § Y o oIl @:
1. Latent learning / 3{cddd {fRTH

2. Trial and error learning / URi&orgd ﬁ% IR

3. Insightful learning / ey 3Ty

4. Classical conditioning / FATRIB S el

Correct Answer :-

« Trial and error learning / TR1&0T Ud _1’[% 3R

Topic:- AGRICULTURE

1) Potato belongs to the family of ./
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g TRaR ¥ T&lE 81
1. Crucifereae / W

2. Compositeae / HIifoTe!

3. Solanaceae / JIe-4

4. Legume / a"'ﬂﬂ

Correct Answer :-

« Solanaceae / @aﬁ

2) The improved seed distributed to farmers for commercial cultivation is: /
framl ®1 aiftifue Wdt & fog faafva 3= diw A 819 &

1. Foundation / 3Uld

2. Breeder / Yol

3. Nucleus / FTTH®

4. Certified / JHTIOIT

Correct Answer :-

« Certified / JHTIOTT

3) The method of mass communication is: / = Udh oiq AR B ﬁﬁ[%
1. Farm visit / Ad &1 YH0T

2. News paper / JHIHR UF

3. Group discussion / W EEl

4. Demonstration / GRA

Correct Answer :-

« News paper / HIHR UF

4) Sub-soiler plough is best suited for . | G9-gisax g & fere waffere Sugaa gan
gl

* (=N N
1. breaking hard fan / €2 HaTd (816 W) P dle-
2. inter cultivation / 3{d: w (33“\7 Wﬁm
3. making ditches / @Tsc (%%lﬂ) CEIE]

4. deep ploughing / el T{Kﬂé
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Correct Answer :-

. breaking hard fan / €31 TaTd% (8T ) &I Al

5) The chemical mutagens usually induce ./

TS IARTd GHRI: 3! IRd P B

1. chromosomal breakages / W’q cc-thc
2. chromosomal translocation / ‘IUW RJIEIGR|

3. gene mutation / ST+ RICIRCRE]
4. none of these / E:Iﬁ I ?ﬁ_sc qﬁ

Correct Answer :-

. gene mutation / S RICIECRE]

6) Soil particles deposited by flowing water is called .
TEA G UM RIS P MU geT S Hor__ gl
1. colluvium / ﬁr%ﬁ’c?

2. albedo / eSS

3. alluvium / STAIGH

4. aquifer / SICTHR

Correct Answer :-

o alluvium / W

7) Glyphosate is the active ingredient of: / TTSHIAE A &1 TP Afhy IS ¢:
1. Treflan / ¢BhaM

2. Himore / ffaR

3. Round-up / I3S-37

4. Gramoxone / TTHIGI

Correct Answer :-

« Round-up / I38-3U

8) If the marginal product is more than the marginal cost, then further investment in production
is ./
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gfe WHid aRTd B a1 | Hi9id Iarg oifed 3, A SAgA A sFran fa=r _ giar g
1. harmful / BTH®HRSD

2. equal / SRT&R

3. profitable / THBRI

4. no effect / FSIHTE

Correct Answer :-

« profitable / ATHDBR]

9) CANCELLED

Beet root stock for citrus in South India is: / f&10T YR ﬁ@'\‘[ & fere e C4| S DI wie A= 3:
1. Citrange / @@Gf

2. Cleopatra mandarin / faeraiter dema

3. Turnip / RMeTSTH

4. Rangpur lime / W ollgH

Correct Answer :-

« Rangpur lime / W ollgH

10) CANCELLED

Identify the compound formed when sucrose undergoes fermentation reaction?/
19 Gepiol [hua Uiaferar & ToRd! 8 a1 fed N Ht ugar s32

1. Propanone /mﬂ?ﬁ

2. Propanal /tﬁﬁ:rra

3. Ethanal /Qa:ﬂﬁ

4. Ethanol /Q?kﬂ”?«r

Correct Answer :-

« Ethanol /Qaqv'lﬂ

11) CANCELLED

What is the disadvantage of ploughing in arid and semi-arid zones? /

IR YT AF-FHR &3 | TS B BT |1 TP 82
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1. Reduced root growth / 5T I Q"@ o ol

2. Loss of soil particles / Jal UNl &1 &ffdl

3. Loss of soil organisms /HET% ﬁ&ﬂﬁﬂa DI &fd
4. Loss of soil moisture / Hal DI TH DI &fd

Correct Answer :-

« Loss of soil moisture / &1 &1 TH! i &fd

12) Which part among the following is absent in buffalo as compared to cow? /
T &Y garT & U | B4 a1 R rqufRia giar 32

1. Dewlap / T & (_eﬂf’rcD

2. Pastern / ‘:P:I?ﬁ (ClTSRT:D

3. Neck / TG

4. Knee / gc-l
Correct Answer :-

« Dewlap / TdAhad (3@[%50

13) Pungency in garlic is due to: / de1 # dRaru= = & SR g 3:
1. Lycopene / aﬁﬁtﬂq

2. Diallyl disulfide / SRICIA SISUHISS
3. Allyl propyl disulfide / TfeTd QT SRAHZS
4. Allicin / QI%‘II%H

Correct Answer :-

« Diallyl disulfide / SN SIENIESS]

14) The process of removing of bark on stem or branches of fruit crops is known as: /

Pl B B S aA AT MERI W BTA B geA P Ufbar | &g H S Sl 81
1. Eye/@'ﬂg
2. Cuttings/ﬁ“’f

3. None of the above / 5qz:]:q(-| =S| <1|’>\I$r T8l

4, Patch / ﬁ%r
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Correct Answer :-

. Patch/ U

15) Central Potato Research Institute is located at ./
P AT Y IR A fRER)

1. Jammu & Kashmir / \_rlﬂﬂ;@'?r:{ PR

2. Shimla / TRIFcT

3. Punjab / UIC)

4. Pantnagar / UdTTR

Correct Answer :-

« Shimla / FRrEaT

16) Fruit crops propagated by seeds, bear flowering. /
T GRS TS BAN P HUA, pAUGTHal gl

1. carly / Seal

2. no flowering / ﬁ%‘ P qg)f

3. none of the above / 37{3[ ﬁ ﬁ’sﬁ 7'%3[

4. late / X ¥

Correct Answer :-

. late /G

17) Harrow is drawn by: / %ﬁ | g LGB IRCIG] % |
1. Only diesel / Had @ﬂw

2. Only tractor / Had %FET

3. Only bullocks / Had Idl

4. Both bullocks and tractor /éa‘f 3R ETET Eﬁ:ﬁ

Correct Answer :-

« Both bullocks and tractor /%Fﬁ 3R ETE? LA l|

18) Losses of nutrients in soils can occur due to: /

Page- 22


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

N P> Google Play

fagt ° giye al &t Ht & BRI gl Hbdl 3
1. Leaching only / Had fH&Ta

2. Nutrient removal by crops only / Had B B gRI UIND ddi DI HdbTa-

3. All of these / JTYard Tt

4, Erosion onIy/m &RUT

Correct Answer :-

o All of these/?qqaﬁﬂﬁ-ﬁ

19) Salad crops are those crops that are used for ./

QTG B¥d, 9 BHd gidt g ol & fore IuaRT Ft oIt €
1. ornamental purpose / Jorac 34

2. latex extraction /%é?ﬁr ﬁWEfUT

3. canning / fesaraidl (%ﬁ’rl)

4, raw consumption / F T H Wqud

Correct Answer :-

. raw consumption / Ha &U H WU

20) A virtual and enlarged image is obtained at a distance of 20 cm from a convex lens of focal length 10 cm.
Where is the object placed in front of the lens? /

10 O Biwd G4 aTd T 30 A I 20 T B gt IR TP Ut 3R srrafta of yrea ot vt
21 9 & GTHA a3g $al U= 3@ 47 32

1. 20/3 cm from the lens / & ¥ 20/3 @Tﬁ?
2. 10 cm from the lens / A 10 @IﬁER

3. 20 cm from the lens / A I 20 @IﬂER

4, 3/20 cm from the lens / K] 3/20 pap] 4

Correct Answer :-

e 20/3 cm from the lens /G 20/3 @ﬁ[?ﬂ

21) Lime stone is used for the reclamation of which of the following soils? /

Frafafaa § @ 19 @ ga1 & JUR & e, g9 1 IR (@150 TF) T fHar S g2
1. Laterite soil / mﬁa
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2. Acid soil / 3% 7T
3. Sodic soil / ASH Gl
4. Alkali soil / &RIT TaT

Correct Answer :-

. Acid soil / 31T TaT

22) The physical property of soil which cannot be changed is: /
el 31 98 Hifa® fured, o ufvafda 18t foar s awan :
1. Soil structure / HaT T

2. Soil texture / Hal dqIdc

3. Soil colour / &I AT

4. Bulk density / ¥fc] Udcd

Correct Answer :-

+ Soil texture / Hal d-ldc

23) Viviparous seed are reported in: /
SRTg aie f=T ® uTe wrd €

1. Grape / 3T}
2. Mango / 3{TH

3. Papaya / Ut
4. Jackfruit / bced

Correct Answer :-

o Jackfruit / dced

24) Potassic fertilizer(s) most suitable for potato and tobacco is/are: /
3T 3R THITE & 1T T Iuga Gie1iied Biearser a1 &:
1. Sulphate of potash only / HId TICTRI o e

2. All of these / chréjaa gt

3. Schoenite only / Had Qﬁ:ﬂg_c’

4. Muriate of potash only / Had UIeT=I & Tgul
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Correct Answer :-

 Sulphate of potash onIy/W UIeT & Tothe

25) Which of the following herbicides is used as post emergence in wheat? /

frefafea o @ o9 a1 et 38 ° vy 3ga & U d uged fhar oran g2
1. Atracin / UQTRH

2. Glyphosate / TTSHIAC

3. Fluchloralin / TRIGIRTCH

4.24-D/2, 4 -8

Correct Answer :-

« 24-D/2,4-8

26) Which of the following instruments is used for measuring angles of slope? /

A & BIVN & A9 $ g Frforf@a & @ @19 |1 st yaiT far s g2
1. Graphometer / THIHIC

2. Inclinometer / ST (FERMZAMICR)

3. Macrometer / HEHTHICR

4. Optical square / TSI d T

Correct Answer :-

« Inclinometer / BRI ] (BH?IE‘FﬁTﬂET)

27) is the farming practice of plowing across the slope of hills. /

_ Ugieul P A W Qdl P JdTg e 31 TP fAfu Bl
1. Crop rotation / TOd 3TadH (19 AcTH)

2. Terracing / HTGIGR (CRIT)

3. No-till farming / SdTs-Ifed Qall (AI-fed Wi

4. Contour ploughing / TRYWTT JdT8

Correct Answer :-

 Contour ploughing / P EEeGiEs) T{R‘ﬂ_s;
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28) Command Area Development Program was started in ./
Fuis AT e eriwa_ #yR= e man un

1. 1982-83

2. 1970-71

3. 1978-79

4. 1974-75

Correct Answer :-

« 1974-75

29) The cooperative movement was started first in ./

HEPNI Sfiga- AduYd # R far mar Ul
1. Germany/ﬂﬁ:ﬁ

2. USA /gU4U
3. England/g"?fg

4. India / HRd

Correct Answer :-

» England / 3”@3

30) Ina___ system of planting, row to row distance is greater than plant to plant distance. /
R R, G & 0 9 o8 o8 g A o @ TR g e B 2
1. rectangular / TIdIhR

2. diagonal / faaf

3. square/?ﬂw

4. triangular / ﬁw

Correct Answer :-

o rectangular/ ATAdIHR

31) Which disease in rice is caused by zinc deficiency? /

i 31 HH & gRT IT9d H S 1IN a1 3?
1. Khaira disease / @T[@FT
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2. Bacterial blight / \_rﬂaTUlTr[ SERY (aaﬂﬁﬂa &S C)

3. Bacterial leaf streak / \_rﬁaTUJ,Trf guf guikar (éa«‘ﬂﬁua g @A@
4. Sheath blight / 3186 START (MY ATS0)

Correct Answer :-

o Khaira disease / TR I

32) Carrot belongs to the family: /

Mok 39 URER 9 Hafid 8:
1. Umbelliferae / @@Fﬁw
2. Malvaceae / TG

3. Cruciferae / W
4, Solanaceae / @Fﬂﬁﬁf

Correct Answer :-

« Umbelliferae / 3FETH]

33) Infection of Coccidiosis disease can infect the bird up to the age of ./
DIRITSTAT I BT JhHOT TP B MY & Uil ) Hepfia w2 THhdT g
1. 3 weeks / 3 dWdlg

2. 1 week / 1 Hilg

3. 5 weeks / 5 HUdlg

4. 10 weeks / 10 JtdTe

Correct Answer :-

e 10 weeks / 10 Htdle

34) Name the advanced stage of rill erosion? / ¥e 3ruReH & ITd TRV BT A 9dra?
1. Stream bank erosion / T S 3R

2. Gully erosion / ®T¢T (UG

3. Splash erosion / ¥pR UG

4. Sheet erosion / T UG

Correct Answer :-
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« Gully erosion / YTt 3URGHA

35) Name the soil microorganism which is free living bacteria and non-symbiotic? /

I HeT YA BT 19 Fa1¢ St [aa Sifad Ig1 arer dadifvar 3k A-Tgoidl 82
1. Azospirillum / TIRUTSREH
2. Azatobacter / TSllciddex

3. Rhizobium / JSSITSIH
4, Blue green algae / BINEEREI]

Correct Answer :-

. Azatobacter / TSllcIddeR

36) Scum formed during the dissolution of soap in hard water is the precipitate of: /

HoR od | g & fawed & G fAiftfa ygae a1 71e w1 s@du g g:

1. Magnesium and calcium salt of mineral acid / TRRMT iR WA 3 & Sy waur

2. Copper and calcium salt of organic fatty acid / HIOR 3R BTHHD T3 P BIITH AUl

3. Calcium and magnesium salt of organic fatty acid / HITTH 3R FHe-d aUI-3RT b AUREH Faur
4. Sodium and copper salt of organic fatty acid / I STH 3R BT TII-3 B HIUR TG0

Correct Answer :-

« Calcium and magnesium salt of organic fatty acid / FITTH 3R Pe-dh aII-3RT b HRTH Fqul

37) Laterization is a process of accumulation of in soil. /

ARBeA, YTH & AU & U ot 9 arell ufshar g1
1. CaSO4 /[ CaSO4

2. CaCos / CaCos

3. silica / ffeipT
4. iron and aluminium oxides / 3R Td Q@Tﬂ'ﬁqﬁ 3'|'\|173F\‘:|'|_5:_6'

Correct Answer :-

« iron and aluminium oxides / 3R Td Q@Tﬂ'ﬁqﬁ 3'|'\|IEF\‘:|'I_$:_6'

38) Barograph is used to record: / RUTE 7= & A & ﬁl’Q’ UYdd E-i_dT %z
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1. Soil strength / Hal q
2. Soil water potential / QT STl &HdT
3. Soil temperature / H&l dTTHTT

4. Continuous record of atmosphere pressure / arrgﬂ:f:r—ﬂn 31§ &1 FRaR Rl

Correct Answer :-

« Continuous record of atmosphere pressure / arrgﬂ:f:r—ﬂn 21§ &1 R Rl

39) Wax coating treatments enhance the shelf life of fruits because it blocks: /

gﬁaﬁuﬁaﬁﬁvﬁmﬁawmﬁwmﬁﬂma@maaﬁ%wﬁﬂﬁmm

1. Pollination / URITOT

2. Respiration / A
3. Ripening process / - o1 Ufohar
4, Transpiration / CINIRSE]

Correct Answer :-

 Respiration / 4

40) If the base radius and the curved surface area of a cylinder are 6cm and 528cm? respectively, then its
height is: /

gfe U 909 & SMTUR $1 A1 Ta I YT &% d FHRT: 6 A T4 528 A2 §, 99 39D ST 3:
1.21cm/21 9

2. 7cm /7 94t

3. 12cm / 12 T

4. 14cm / 14 98

Correct Answer :-

e l4cm/ 14 98

41) Pungency in chilli is due to: /

forif & o &1 R 3:
1. Cucurbitacin / W@q
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2. Capasicin / HUHRM
3. Capsanthin / FUIRA

4, Glycoprotein / IGIEEAIIE]

Correct Answer :-

+ Capasicin / HUIRHA

42) is done by the person who is implementing the Program. /

9 AfHI GRT B ST § Sl PRIHH DI HHATad HL T3
1. Monitoring / AR
2. Rejection / RIRCE |

3. Confirmation / E@W
4. Evaluation / JeTh

Correct Answer :-

« Monitoring / AR

43) Hill soils are generally ./ qddrg e AqH=G: gt gl
1. alkaline / &R

2. neutral / 3T

3. acidic / 3FATY

4. saline / IO

Correct Answer :-

. acidic / 3T

44) Cold temperature treatment of seeds for inducing germination is referred as: /
PR U H3A & fore diwl d 38 aruH= SUER &t & U H ST ST 8l
1. Vernalization / S0l

2. Sterilization / faGHHUT

3. Stratification / TRIBRUI

4. Scarification / U9

Correct Answer :-
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. Stratification / SIRIB U

45) The fertility level of any soil is generally determined by: /

it +ff Frd) &1 worAA TR MR WR 39 g1 fAeifya gar
1. All of the above / B'Cl?iaﬁ i

2. Aeration and hydration only / Had ara 3R GlngH

3. Humus and mineral contents only / PHad gad 3R @ gt

4. Hydration level only / ad B39 WX

Correct Answer :-

« All of the above / G'Cl?jaﬁ gt

46) The overhead cost is also known as: / SURANTA (3MaRes) &1 = 9@ I W} ST 51T @
1. Marginal cost / HHHid arTd

2. Variable cost / TRAT-IT ARTA

3. Total cost / I <ITd

4. Fixed cost / FRRR T

Correct Answer :-

o Fixed Cost/@ﬂ ANTd

47) The statistical procedure for estimating whether the difference under study is significant or non-
significant is known as: /

g U T & fore Hifere ta uithar g {3 sieaae & g siar Agwyqul 8 a1 IR-Agayuf 3:
1. Level of significance / T8 BT WX

2. Sampling / Tfqex (Fwafer)

3. Test of significance / T AT TI&0T

4. Standard error / {1 Jfc

Correct Answer :-

« Test of significance / JTfardT T1&f0T
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SiSHT, TdT 9T RISl D = & START GRT HIUT ST bl 3:

1. Weighted harmonic mean / YR BHIHS HegHH (aés SRHIM® rﬂ=r)

2. Mode / g (HIS)
3. Geometric mean / STTHAR A (SAIAfcH i)

4. Median / AT (HIfST)

Correct Answer :-

« Median / AT (Iﬂ'%'qq)

49) The stem above the ground in banana is known as: /

& A YA & FWR F 1 F T deroETE:
1.Trunk/FF|T(§@
Z.Mizome/m(ﬂgﬁﬁm

3. Sucker / FHDH (HPX)
4. Pseudostem / ST (SR H)

Correct Answer :-

+ Pseudostem / BT (S IRSH)

50) The inability of a hybrid to produce viable offspring is known as: /

agTd Hdafd IU= $I1 § 3&H B diul (8T3f98) B fA & =0 A W1 SI1dT 8-
1. Hybrid sterility / SR ST (BT3foie exfeid)

2. All of these / SURTST FHt

3. Hybrid breakdown / HhT foeR (_5513@_6’ am)

4. Hybrid inviability / TR Siia--3{&HdT (BTSfeIe garsiaferct)

Correct Answer :-

« Hybrid sterility / GPx §&IdT (STSfoie Txferet)

51) The earth’s magnetic field at a certain place has a horizontal component of 0.3 x 10°*T and the total

strength is 0.5 x 10T. The angle of dip at that place is: /

TS FAIf3a R R gdt & gaaig &3 &1 &fas 9e® 0.3 x 10T 8 3R Ta i 0.5 x 1041 8139
I R f$u B g:
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1. Cos™! 3/4
2. Cos™1 4/3
3. Cos™! 3/5
4. Cos’! 5/3
Correct Answer :-
« Cos’! 3/5

52) The plough used for maximum moisture conservation is: /
ftrpan TH W& & g SWed 5ot o1 TN fopar wiman 3:
1. Chisel plough / EISEES]

2. Cultivator / Heeidex

3. Disc harrow / [$%® %ﬁ

4. MB plough / AT g

Correct Answer :-

« Chisel plough / EISEES]

53) The most commonly used pumps in tractor hydraulic system are: /
dae? grssifare Rew # fA tu =g v § Jaifie yge gid €
1. Piston types / f0e= a1y

2. Gear types / R e1gy

3. Vane types / CREED]

4, Centrifugal types / @lgnl Woiet CIQU

Correct Answer :-

+ Gear types / R ergy

54) The pesticides that act by permeating the entire plant are said to be: /

q PIeTP o T U B G- HIb HATYP 77 A 3R P 8, [+ $gard &

1. Penetrating pesticides / NGPH BHICIRID ( aqaléll &Rﬂqﬁgﬂ)
2. Porous poisons / TRY fay (Chw t|'\|l'5:Ty|T-|)
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3. Systemic pesticides / ATl dpleATRId (ﬁm MW)

4. Contact poisons / et faw (d’)T*EOIC HTS\IH)

Correct Answer :-

« Systemic pesticides / FaT HieARIG (Rrenfes a%‘:‘lﬂlssﬂ )

55) The site of protein synthesis in a cell is: /
TS DIRTST H Y SRA90 f RE W Ears:

1. Chloroplasts / ERATA® (FKIRIEIRC)

[N (a}

2. Endoplasmic reticulum / 3FTGaIT ST (TSI XEIHaH)
3. Ribosomes / TIE_@h@I[
4. Mitochondria / msﬂﬁi%m

Correct Answer :-

o Ribosomes / TIE_Gh@'q

56) Puddling is done to: / gsi%m =1 & e &1 ol 8
1. Pulverise the soil / &l Cal SRS B

2. Level the field / @ 1 SRT&R R
3. Reduce percolation of water / Ul o a0 § HH B
4. Kill weeds / GR-UAIR T P

Correct Answer :-

« Reduce percolation of water / Ul o 3 Fau & HH B

57) Inbred lines in maize are maintained by: /

HahT H 3id:USTTd 9XIpH (3198 A15-9) A & gRT suafyd ST &:
1. Cross pollination / HHR GINTOT

2. Self pollination / ¥d-UXTUT

3. Open pollination / gcIT UXNTUT

4. Sib pollination / e GRITOT

Correct Answer :-

« Self pollination / ¥d-U[TUI
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58) Ten cousins A (eldest), B, C, D, E, F, G, H, I, and J having an age difference of 4 years each decide to go
for a picnic. If J being the youngest is 6 years old, then what is the age difference between A and J? /

Y TN HISY A (WT), B,C,D,E,F,G,H,I T4 J B U H 4 99 &7 3iaR & au1 It fUssfae R &E &1
frofa =4 &1 afe J 9 BIeT 8 TUT TP U 6 Y §, 1 A UL J & S IY BT 3icR T 82

1. 40 years / 40 G
2. 38 years / 38 98
3. 42 years [ 42 ¥
4. 36 years / 36 CL

Correct Answer :-

« 36 years/36 CL

59) Success in rural development project depends upon: /

artor e ufvaten o atear e R Rk et 6
1. Participation of beneficiaries / T’IT‘J-I'Iﬁfq-T i ﬂ’s"”’lﬁ?ﬂ

2. Amount of subsidy / @_craﬁof SENIR] (ﬂm TlﬁT)

3. Regular training of workers / HHRI B T uiem

4. Regular contact of workers / HIRI I FAafd gud

Correct Answer :-

« Participation of beneficiaries / amrfi‘rq‘r G| e HI UGl

60) Mention the pressurized irrigation systems? / Eﬁlﬂfﬁlﬂ' ﬁﬁ-l'l'&g YUITEN T I0E He?
1. Check basin irrigation / aRE @Fﬂg P ST B

2. Border strip irrigation / CIER f&i—q ﬁl?‘ﬂ_‘éC

3. Furrow irrigation / % ﬁla'l_st

4, Sprinkler and drip irrigations / fSiweR SR ﬁf\';q ﬁl%n's‘

Correct Answer :-

+ Sprinkler and drip irrigations / fBiweR 3R %,:q REIS

61) Planting of succeeding crop before the harvest of a standing crop is known as: /

TSl U Bl Hels I Yd 3ad] bad & A9 Bt & YA TETSET |

Page- 35


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

N P> Google Play

1. Multiple cropping / dg I (Hec iU shiTu)
2. Mixed cropping / fafsra g (&IT:RTs’ aﬁ"fﬁT[)
3. Relay cropping / 3JUc ¥ m EF\IJﬁ'JT)

4. Inter cropping / 3{dRT T (IR Eﬁﬁﬁﬂ)

Correct Answer :-

« Relay cropping / 3{JUc I&q (h@f W'D

62) What is the necessity of raising calves? /
TS| DI ¢ DI T SR d gl 82
1. Only to reduce mortality in calves due to poor management. /
B PHAR U &b HRUI g ! Dt G T HH H o foT
2. All of these / SURTRT FHt
3. Only to build a good dairy herd with pedigree animals free from hereditary defects. /

hael IR G J Hod dRITael T3l o 1Y Teh 3T ST S &1 o ferg

4. Only to achieve early maturity and productivity. /

sad XY uRuggdr 9 SATEH T UTd B+ forw

Correct Answer :-

- All of these / SURTe FT

63) A year is considered as drought year, when there is: / dg CL WX HIAT ST %, uldq -
1. 85% less rainfall than normal / FTHT I 85% HH a'ﬁl'f Eﬁ?‘ﬁ %

2. 25% less rainfall than normal / ITHTRT ¥ 25% HH auf Bﬁ?ﬁ %

3.75% less rainfall than normal / GTHI ¥ 75% %H a9 Il §

4. 50% less rainfall than normal / JTHTRT T 50% HH auf Eﬂ?‘ﬁ %

Correct Answer :-

« 75% less rainfall than normal / JTHTI & 75% HH U Eﬁ?‘ﬁ %

64) ICAR-National Academy of Agricultural Research Management (NAARM) is located at: /

ST HTIARITETT FIY ST T SrepTeH! (TAULSREH) fA e A R 3:

1. Karnal / dAld
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2. Hyderabad / |

3. Nagpur / YR
4, New Delhi / '_'|_5C foeett

Correct Answer :-

« Hyderabad / %azlala

65) Feeding of tender sorghum fodder results in: /

S SGR BT IRTGH P IRUTAEEY (= g 3:
1. Oxalate poisoning / Sfiqcie fasTe

2. Cyanide poisoning / HIIIS S ICLIESE]

3. Nitrate poisoning / :ﬂga_c' IELIESE!

4, Saponin poisoning / AT fasrad=

Correct Answer :-

« Cyanide poisoning / IS S fauTe—

66) Ring worm infection in cattle is caused by: /
TafRrat & e HRY Tehor fA & H1RT EIdT 8:
1. Virus / ﬁ'qTQI

2. Fungi / dd

3. Bacteria / \_rﬂaTUl
4. Parasite / OXSiial

Correct Answer :-

« Fungi/®ddh

67) Which of the following nutrient imparts disease resistance to crops? /
frafafaa 3 @ 19 a1 tive 9@ Bl & g I ufoRtys ved sar g2
1.N

2. K

3.Cl

4. H
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Correct Answer :-

- K

68) Which of the following is a major symptom of Brucellosis disease in cattle? /

HafRral # gRiienRi A1 & freafefed # 9§ o uq@ 9801 8id 82

1. Profuse nasal discharge / IR TH dedl

2. Lameness in affected legs / TR ;R A NUEIEE

3. Abortion mainly during advance or late phase / 3 ©4 | QlWGﬂT‘ﬁ a7 3ifad TR § MU
4, Bleeding from natural openings / m &l ¥ YFaama g

Correct Answer :-

. Abortion mainly during advance or late phase / & =0 ¥ ST AT fferd TR0 T Mefura

69) Which of the following is a partial root parasite? /
fFrafafea o S« v Siifie o weidl 82

1. Cuscuta [/ dIPpcl

2. Striga / f&mm

3. Loranthus / ARG

4, Orobanche / 3AT¥[ (m

Correct Answer :-

. Striga /T

70) Which of the following is NOT an American breed of poultry? /
fFrefafaa d 9 19 W papeura 9t te sARe T 8t 87
1. Cornish / I

2. New Hampshire / q%mmm
3. Rhode Island Red / IS 3113%_6' I8

4. Plymouth Rock / TWITSHNSY b

Correct Answer :-

« Cornish / IR
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71) Which of the following is NOT essential for germination? /
3ipvur & fore fArfafaa # @ war smazas 8 82
1. Wind / Ud-

2. Soil / Hal
3. Water / SIdd

4, Air /dIYg

Correct Answer :-

o Wind /Udd

72) Which of the following is NOT a system of farming? /
frafafed & & w1 g @it 3t gomedt 7161 32

1. Collective farming / W Wt

2. Rain fed farming / gy Rifad @t

3. State farming / NSEAREER]]

4, Cooperative farming / TehRI Wl

Correct Answer :-

« Rain fed farming / guf Rifaa @<t

73) Which of the following is NOT a method for water conservation? /
frafafea & @ o= ot faweu sra dvaror o faftr o1 e 8 32
1. Avoiding water wastage / Ol &1 gaidl A1

2. Improving irrigation efficiency / IBEIEE IR JYUR HIAT

3. Groundwater extraction / ’{&ITIH EEARL:AYI

4. Rainwater harvesting / LIRS IUgul

Correct Answer :-

. Groundwater extraction / JfERTd STe femefuT

74) Which of the following is the quickest method of lawn making? /

fr=fafea & 3 o149 91 | 99 &1 998 d aiiaT 82
1. Turf plastering / T e
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2. Turfing / it e
3. Seeding / IS
4. Dibbling / f&afefTT

Correct Answer :-

o Turfing / <fthfeiT

75) Which of the following is an organic pesticide? /
frfafea 3 9 71 w& Sfae sleamwe 82

1. Zinc phosphate / S wihe

2. Neem extract / 19 T 37

3. Blue copper / BINIKIEL

N

4. Chlorpyrifos / FIRUTSRI DI

Correct Answer :-

« Neem extract / ST BT b

76) Which of the following micronutrients is essential for the synthesis of auxin? /
TR & TRAWT & fore o o & fovw gea Miue &t erazaedar gidl 872

1. Mn

2. Zn
3. Silicon / RIfe/pTT

4, Cu

Correct Answer :-

77) Which of the following methods of irrigation has the highest water use efficiency? /
Riarg & Fufafea 8ol § & foad 3@ o SuahT gamr 32

1. Sprinkler / ek

2. Drip / %'q

3. Surface / Hdg

4. Furrow / $S
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Correct Answer :-

. Drip/%'q

78) Which of the following is not the part of male reproductive system? /
ot & @ w1 =R 9949 &3 &1 U AT 82

1. Scrotum / m

2. Testes / 9UUT

3. Fallopian Tubes / YR 1|

4. Epididymis / S{&qu0r

Correct Answer :-

« Fallopian Tubes / YT

79) Which one of the following statements is wrong about heat energy? /
ST Sull & aR & fAafafad & @ @19 91 v $Y Tad 8?2
1. Heat energy can be focused to a point by a lens. /
STAT SHoll T ¥ GRT U foig IR dhisd o1 o Tabell |
2. Heat energy can be transmitted through a glass plate. /
ST Bl U BId BI Wie o H1eH J Ud o1 S Fohll 6|
3. Heat energy can be reflected by a mirror. /
ST Sl T TUUT A WRTafcld 8l Jobll o |

4, Heat energy cannot be used to do work. /

BT B & 1T ™1 St 1 YA T8 o o Fevar g

Correct Answer :-

« Heat energy cannot be used to do work. /

BT B B 11T ST Sl b1 TN T foodn o Gb1 2 |

80) Which one of the following is NOT the mode of radio broadcast? /
frafafea & & wr W yaro &1 J1e= 761 82

1. Lectures / HTYUT YT HRATH

2. Straight talks / ieft Srd-<iid
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3. Songs / Tid
4, Interviews / HI&Th R

Correct Answer :-

. Straight talks / Hiefl STd-dtd

81) Which one of the following is NOT a tool of farm management? /
fraferfaa # @ i Q@ yeed $1Ud ¢d 781 82

1. Farm planning / S T

2. Farm bookkeeping / B Serardl

3. Farm budgeting / ?&f ST

4. Production and cost function / SdIq Qa NING| HGI?ILIr

Correct Answer :-

« Farm planning / ST TSI

82) Which one of the following conditions is the reason for the seedlessness in “Thompson Seedless”
grapes? /

fFrafafeaa 8 @ o9 @ Rf uiegs Hsdw sfRE A fiw T 89 ST eRUe?
1. Parthenocarpy/tIT'a:hW

2. Incomplete flower / 3‘|'lIUf hd
3. Non-viable pollen / SaYeH TR

4. Stenospermocarpy / ARy BTl

Correct Answer :-

« Stenospermocarpy / CARGHBI!

83) Which one of the following phosphatic fertilizers is a by-product of steel industry? /

Frafafad wrabfes Idva! & A S 91 STTd YN BT IUIAUE 82

1. Basic slag / §Ta UTqHT (QRP T
2. Nitro phosphate / 7'||3€j| BT

3. Single super phosphate / R gJur PP
4. DAP / SIqUl
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Correct Answer :-

« Basic slag/gﬁm?ﬁ W@mm

84) Which type of soil exhibits self turning property? /
fra yoR ot frg) dew e uradt vefRia ovdt 32
1. Laterite soil / m ﬁl@

2. Alluvial soil / STalle fHg!

3. Red soil / oflc] ﬁl?[

4. Black soil / &Tail fg]

Correct Answer :-

« Black soil / STall ﬁl@

85) Which part of root absorbs water and minerals? /

SIS BT B AT YISl YT GiSil BT Sy Har 82
1. Root cap/qu"h'q('\wcrm

2. Root hairs /Hﬂﬁq W%ﬂﬁ)

3. Epidermis / dTelcddl (Qﬁlgﬁﬂ)

4. Endodermis / 3fd: T (@m

Correct Answer :-

+ Root hairs / Hcl AT (FE %ﬂﬁ)

86) Which of following vegetables does not require specific low temperature before flowering? /

fFrafafea o 3 o9 @ Tt # paa | v fafkre A= araum 9t smazaewr 981 gkl 82

1. Beet root / Gh G
2. Brinjal / ST

3. Cabbage / gt

4. Onion / WIS

Correct Answer :-

« Brinjal / ST

Page- 43


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

N P> Google Play

87) Which method of estimation of available phosphorus is used for neutral and alkaline soils? /

TR 3R & ) & SUeiey BB RA & TP 8 P TT a3 1pT SUTNT fhaT STaT 872
1. Olsen method / 3T fafdr
2. Bray II method / & 11 faf&)

3. Bray I method / s 1fafe
4. Kurtz method / W fafer

Correct Answer :-

e Olsen method / e fafdr

88) Which method of milking is used in commercial dairy? /

qidfoue 3ad # gu Frered #t e 9t faft wgea gt @2

1. Machine milking /'H'Qﬂ:fﬁ§%f§€7ﬂ (TR fafeh)
2. Fisting / fthfedT

3. Knuckling / TAGY (AT
4, Stripping / BRG] (&iﬁl’ﬂ)

Correct Answer :-

« Machine milking /mﬂ'rr@rgsrg‘s’m(mﬁqﬁm

89) Buttoning is a physiological disorder in: / e~ A= ° g1 aren TS ARG fears &

1. Garlic / e
2. Cabbage / Ucdl et

3. Onion / WIS
4. Cauliflower / e Tt

Correct Answer :-

« Cauliflower / Pl Mt

90) How many ATP are required to produce 1 mole of hexose in photosynthesis? /

UhT ATATOT & 1 HIT g & fAHT0r & e foa= ATP B STazaedr gidl 22
1.18

2.8
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3.38
4. 28

Correct Answer :-

« 18

91) Chemicals that inhibit the feeding in insects when applied on foliage without impairing their appetite is
./

T o YA P AT FH Pl Ul WA A Bl A Heur HIAe dars, @l
1. attractant / TS

2. repellent / TSl

3. antifeedant / SRR

4. none of the above / 378 I BIS o

Correct Answer :-

. antifeedant / M

92) Spraying or dusting of gammexane, DDT or malathion is done for the management of which disease in
poultry? /

T # MR, ST a1 Aafium &1 fSsea 398 A fod A IR & wu A forar wiar 82

1. Nematode / JABIH (AATCTS)

2. Flukes / TOTGhTH (TRTERT)

3. Ectoparasite / STEIURSIA (TFCIURTITSC)
4. Coccidiosis / PIaATSTdT

Correct Answer :-

- Ectoparasite / STIURGd! (TG ORTHTSC)

93) Hydrocarbons X, Y and Z have melting points equal to — 190°C, — 110°C and — 90°C, respectively. Which
one of these hydrocarbons has the maximum number of carbon atoms? /

TISSIBTEA X, Y 3R Z & TeHI® HHIM: — 190°C,— 110°C 3 — 90°C F R & | 377 A I I T
TISSIBTE § BTa- URHTV[SH Bt Siftrdan e 82

1. All three have the same number of carbon atoms. / FHT I & ?ﬂétf EITJ:I'I'QI\}h & IS JAE Eﬁ?ﬁ %I
2.7

3.X
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4. Y

Correct Answer :-

.« Z

94) CANCELLED

Although ammonium nitrate is an ionic compound it contains: /

FIF STHITHIAH ATSeE UF AIAT Y § SHH ST gIaT Z:

1. lonic and covalent bond only / Fad T 3R Wﬁﬁ 3{TdY

2. lonic bond, covalent and coordinate bond / 3Ta- 3(T&Y , TgTdISl, IUTEHUTST §¢
3. lonic bond only / Fael ATTAT AL

4. Covalent and coordinate bond only / FEEITSIT ST ITHGEATSIT S

Correct Answer :-

« lonic bond, covalent and coordinate bond / 3Tt 3MT&Y , Tggdol, IUTEIIIS §¢/
95) CANCELLED

Which of the following is NOT a feed additive? /

fFreaferfaa ® @« Wieq & frarar 9= aren 9ieie (wis Afsfeq) 8
1. Antioxidants / T&lSfiRiScH

2. Flavoring agents / ¥a1¢ §¢H dTd Toicq

3. Antibiotics / UCIaAIfCH

4. Fish meals / A&l HiH

Correct Answer :-

« Fish meals / TS YIS

96) CANCELLED
Which of the following is NOT an advantage of loose housing system? /
ST T8 YUTTelt &1 fFArferRad © 3 o1 ue oy T8l 82
1. Total floor space required is more. /
3P TRl RIF & S gl 6

2. Cows are milked in milking barn so clean milk is obtained. /

Tt &1 g, g4 FAdrem ard HieR (fAfes T ) & e srar g foRe) Wes gy U gidT |
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3. Labour requirement is less. /
Y BT IR HH Bl 3
4. It is suitable for only warm region. /

g ad 7T &l & T Iuge T & |

Correct Answer :-
« Total floor space required is more. /

3iferep Wl RIM B Sed gt 21

97) CANCELLED

The acidity of cow milk is: / T & Y B 3T gId! 8:
1.0.19t0 0.21% / 0.19 9 0.21%

2.0.17 t0 0.19% /0.17 ¥ 0.19%

3.0.13t0 0.14% / 0.13 ¥ 0.14%

4.0.15t00.17% /0.15 9 0.17%

Correct Answer :-

e 0.13100.14%/0.13 T 0.14%

98) Which of the following test is done to know the fat content of milk? /

U & T 3(GUd B 9 & forg f=rfafaa & @ o a1 adteror fosar siman g2
1. Sediment test / T URI&UT

2. Sensory test / Hda! URI&UT

3. Gerber Test / TR URI&UT

4. Inhibitor test / 3{ARIYDH T&T

Correct Answer :-

o Gerber Test/ TIEYT 13R°[&’<‘I'UT

99) is an oilseed crop. /
__ uw faaga (sifaeriis) vaa g
1. Rice / dldd

2. Groundnut / TTWﬂ
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3. Wheat / ﬁ_ﬁ'
4. Gram / 91

Correct Answer :-

+ Groundnut / T’I'Wﬁ

100) In a quadrilateral ABCD, sum of the angles A and C is twice the sum of the angles B and D. If angle A is
o o
150 and angle D is 50 , then angle B is ./

% TgYs ABCD ®, FHIUT A Td HIUT C FHT GNT, HIVT B Td HI0T D & TRT HT gIAT 81 Tl BT A = 1500 T BT D
=500, di®UIB=__ gl

o

1. 50

o

2. 80

3.120

o

4.70

Correct Answer :-

o

« 70
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